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Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book

Cutling or filiiné two or more circles will result in zero mark in that question
To correct the defect of vision farsightedness which  tb/UJ1/7 !./U;Q_-f. & Sen /"’,g" B
type of lens is used )
None of thesefd:c:.u"uf (D) Both s (C) Diverging .f’z»dli (B) Converging _ﬁz;;"’(A)
Typical value of the voltage and current : dbd\_{ ;i&.,f:‘?&.*}/csl Y »4_5 u‘*‘"flj:;"/?c....*.#lﬁ u.’:.....f_d
6Vand0.3A/ A 03 s 26 (A)

used for thermionic emission from tungsten filament is
12Vand 0.3A/ #4403 s & 12 (B)
12Vand 3A/ A5 3 . s 12 (C)

6Vand3A/ A3 L6 (D)
< dedUe UN St P edmdeslng ke’ (3

Galvanometer /<¢ I.J_:f

Note

To measure the value of current

flowing in a circuit which device is used :
Ammeter HE(B)
None of these u.‘.*"’d/a. ) (D) Voitmeter Hehs (C)
We can distinguish between a shrill and grave sound by its : u‘é/u}u’;ls ldjw;sl;.f;l..fl(' 4
Pitch & (D Area L1 (C) Amplitude J!’UJ'I] Loudness J‘uU (A)
The turn ratio of a transformer is 10, it means : 9 %10 = d/ u;/'g L i A5
v, N
Ng=10N, (D) e ﬁ (©) N, = 1—(; (B) I¢=101, (A)
When U - 92 ejects a beta particle : uj’i'_lgu:?h{gd-l_.duﬂ-_\fi? .‘:.t‘ﬂfg:L;u?;!;l};ug;. U-92.=16
how many protons will be in the remaining nucleus :
90 (D) 91 (C) 89 (B) 93 (A)
To get virtual image from a convex lens the object is kept : ‘< blg@ffriéi./v‘b @Ji:;» .:./.J.Jg/.g 7
Between F and 2F / uwé 2F »#l F (B) OnF / 4F (A)
Beyond 2F / < s& 2F (D) Between O and F / sl F 131 O (C)
S.1 unit of capacitance of a capacitor is : ; .f_ty:..:;g S KUAMJ/"}{.Q 8
N % (D (D) F 32 (C) #4 (B) V& (A)
l'ff‘.»';y;b/u JJ’:‘.. L—JJ’«...—JJ/LJ’ % ..é:..ﬁs’ 8 J/KJ"XJJQJ/»&? 'Jch...»’c.,.d)’{,{ 9
The combined resistance of two identical resistors connected in series is 8 Ohm. Thelr combined
resistance in parallel arrangement will be :
12 Q (D) 8Q (C) 2Q (B) 4Q (A)
e b 7 ad E G |0
Monitor <4 (A)

The brain of any computer system is :
C.PUZ{ S (D) Floppy disc L3l (C) Memory card ub’u»"’ (B)
i ATy (EF’J)”JH:#:’.;_L?_L. :/»'-”gfu’l.fdfd/(lﬁr;u//ﬁ 11

If the mass of the bob of the pendulum is
increased by a factor of 3, the time period of the pendulum's motion will be :
Increased by factor of two € boylh (A)

Remain unchanged f:_.xu'(u/’d} (B)
Decreased by factor of four f:. b f ok (D) Decreased by factor of two K2 ln’.f 'f
The process by wh:ch electrons are emitted by a hot metal ' < *;'i,l;-r ‘ ?é ulfg ez gJ&(/c..ua.ﬂ“ )’n

surface is kno
Conduction (/ ,zf (D) Thermionic emission Lf‘ff»..a.r'/ (C) Evaporation u')»’ y1 (B) Boiling ..f"l:’ (A)
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10 2. Write short answers to any Five (5) questions : Llf/"?ﬁ._uwr (5) g;t & Jf -
(i) Write down two characteristics of simple harmonic motion. ._Z: /f ..«La:" » -..fy‘.f
(ii) Provethat: v= fA VE f/1 ._A‘ (||)
(iii) What do you know about Ripple Tank? "4..{9 Lr ...,f 9Py 4‘: ..C- Jf; iii)
(iv) What is tuning fork? fe Lf 9 ..J;x (iv)
(V) Write two uses of ultrasound in medical field. _égf:p U130 % Lrl/!gﬁul,wﬁ (<4) Lﬁy (v)
(vi) State Lenz's Law. ..£ Wb g6 ¥ /J (vi)
(vii) What is difference between step up and step down transformer? ".:.d/buﬁ /;wf/usi;_/»l l...}(vii)
(vii) What is the function of relay? fe bw oK u’ ¥ L (viii
10 3. Write short answers to any Five (5) questions : J.';.L!?/'.’Z...Ulr (5) ét = Jf -3
(i) Define power of lens and write its unit. & <Ay b’ Ji 9] é ...M/ J/J -7 s (i)
(i) Draw the ray diagram of refracting telescope. !‘/f U3 s d, — u"’ ﬂ 7 (i)
(iii) How can you define optical fibre? Ut é d_., ...,l _nl/” J /-b Jﬁ"i (iii)
(iv) What is meant by compact disc? T ol lf PEENE S LR <P g (iv)
(v) Define telecommunication. £ J/’ Juae&uy‘f& (v)
(vi) Define piracy and floppy disc. ..r’_r ....v/ J L3 dw sl Lf/l. (vi)
(vii) What do you mean by background radiations? "'r'_ SV YV /"!du ulf (vii)
(viil) Write down two uses of radio isotopes. ..d.ﬁ U 9y L J:‘r / ,u, (viii)
10 4. Write short answers to any Five (5) questions : Jau?/é’ﬁuwr (5) él. = Jf -4
(i} Describe the construction of electroscope. r_’f b Lalx J :"/‘ /ﬁl (i)

(i) Differentiate between ohmic and non-ohmic material. -é u/ R J’,c” _ﬂzslub »l el (i)
(iii) Define the S.I unit of capacitance of a capacitor. -rf: ...ﬂ/’ J <y S L MJ/ (iii)
(iv) What is the difference between conductors and insulators? - J/ S - J/‘/l 2! /JJ (iv)
(v) Define specific resistance of a substance. el f oY S E _é....a*/’gfu"’fub@-:’ LO)’ (v)

Also write its S.1 unit.

(Vi) For which purpose circuit breaker is used in circuits? St lpd.d jd:wf//./‘:/ufu"} (vi)

(vii) Describe the function of deflecting plates in cathode é ubr!fb’u 'ﬂ":wu;c’%hf..;:ﬁ/ (vii)
ray oscilloscope.
(viii) Describe the uses of cathode ray oscilloscope. -Z.'ut-dt‘wlb’ (CRO) h.-f}ch"”‘—J),’f (wiii)
(PART-II pos.e)
Note : Attempt any TWO questions. f & ez £ ety » o Jf O
4 5. (a) State the reflection of light and explain laws of i@b}d’u*l}’[_u’aj»f éub—u’a:!gfu’u () -5
reflection.
5 (b) A doctor counts vé :b’xﬁ;sld‘;/Ju/}JJJ: - J'(/”J 72 JJ:J’....A_{I /:..f (.7-)

72 heart beats in one rnmute Calculate the frequency and period of the heart beats.

4  6.(a) Explain parallel combination of resistors with -éi..}stxid"ﬁc._ J/M::.ugfrlf el () -6
the help of circuit diagram.

TJKL‘;’/JJ)’-,-‘J}"U_.V»Z:UI e cfé;{.iﬁliiﬁo em 9, =5uC L4 g =10uC Zzlgu.b';l.g» (.._.)

(b) Two point charges ¢, =104 Cand ¢, =51 C are placed at a distance - &= e S %
of 150 cm. What will be the Coulomb's force between them? Also find the direction of the force.

4 7.(a) Whatis electron gun? Explain the process _i’..‘?lﬂ:&i’_)’ﬁ S f "L.qu{):/gl () -7
of thermionic emission. )
5 S e o 3eiTE 368 oK e w10 ISty il (L)
(b) Half-life of a radioactive element is 10 minutes. If the -ilsrasr 3258 23 woss56UEU
initial count rate is 368 counts per minute, find the
time by which count rate reaches 23 count per minute? 210-019-I-(Essay Type)-101000
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Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.

Note :
Cutting or filling two or more circles will result in zero mark in that question.
et S T |1

X = A-B (A)

Boolean expression of AND operation :
X = A-B (D) X =A (C) X = A+B (B)

Specific resistance of iron : ; J?'}; .@f{ J wsT|2
5.05%108Qm (D) 10.6x10°Qm (C) 100x10°Qm (B) 9.8x am A

S S o ATL 5HC0|3
Ju 30years (A)

Half-life of isotope of cobalt 63’2 Co
JU 20 years (B)

JL/ 10 years (D)

The formula for the time period of a simple pendulum :
£
T:Z;z'{z{ (D) T:2er}3_1- (C) T=27:J: (B) T=2ﬁ(§T (A)
m g £
The brain of any computer system is : S (z_,l.: ¥ (j‘/ )z_'.',{ d‘ U/ 5
Memory S#5 (B) Monitor £+ (A)

Control unit ..*;gd,/‘-'f (D) c.PU .:‘,Léd )
:;C"_:JJDTL}.'.'J:’{ 25°C |6
3880 m/s (A)

JU 15 years (C)
: Ufjﬁ(é,&ﬁ?éﬁeji:;vl/ 4

Speed of sound in steel at 25 °C
5960 m/is (D) 6040 m/s (C) 5950 m/s (B)
The process by which electrons are emitted by a hot : ‘LtM:u:«@;léul/’ch;ﬁ?/TfJepﬂu)vbﬁ@}'Lgl 7
metal surface is known as :
Evaporation cﬁwgsl (B) Boiling Sy (A)
Thermionic emission wﬁ-’{l_{y.:‘/; (D) Conduction L);{:J ©)
Speed of light in glass : DA J (?» AV AL
3.0x10m/s (D) 20x10°m/s (C)  3.0x10°m/s (B) 2.0x108m/s (A)
Index of refraction of ice : ; u'ig_/;} T JEJ:! § J£|9
1.36 (D) 1.31 (C) 1.33 (B) 1.00 (A)
Power of hair dryer : sk § Aus 210
800 watts (D) 1000 watts (C) 1500 watts  (B) 5000 watts (A)
Capacitance is defined as e Gb J L}’ J! ._.g/;’. J J’fnf.'f 11
V 0
. "Q (D) QV (C) v (B) VvC (A
The direction of induced e.m.f in a circuit is in : 9&:43 bl CJJEGZ—C)J..:'J)){Q):_’JJ;’MJH@’@’(,S] Adk1[12
accordance with conservation of
Energy &/ (D) Momentum r"'/r‘ (C) Charge {sk (B) Mass Jt (A)
(7474)
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10 2. Write short answers to any Five (5) questions : : ."‘_"'.‘:.Q.Le/‘?éawr (5) ég P Jf -2
(i) Define the refraction of wave. -&d hag/"’. J '&“/.J J s (i)
(if) What is meant by compression? e sl ﬁ/;" (ii)
(iii) Define mechanical waves and write name of its types. _’&thﬁfﬁlJJlAi’:&( -~ /"'J}g_’: Foasa (i)
(iv) Differentiate between noise and musical sound. e J/ l,_f K8l k3L “ix’ (iv)
(V) Whatis silent whistie? Write its frequency limits. - 220550, NN e slp Ve G T (v)
(Vi)De £ine Right Hand rule. E S Uy UL (i)
(vii) Can a transformer work on direct current? fe s 11 £ af _*f.’f/:fl} ol 2a's (vii)
(viii) Define electromagnetic induction. -é ._g!/‘." J % -@-C‘ :)..6! (viii)
10 3. Write short answers to any Five (5) questions : : @2 oy (5) ég ¢ 3
(1) Define refractive index. ..é - /‘.’. J u’fj’:f A 2 (i)
(ii) Write the types of endoscope. ..éi _,xf” U S _!,C,;;, (i)
(iii) Differentiate between pole and optical centre. . Jk Jj 0}, ik }“’ J?’v’ T'.u! d;; iii)

(iv) Name at least four browsers being used now-a-days. ..é("tﬁ,b}:’ if.;fgﬂ}! Ltsd_n )1 S, T (iv)
(v) Define word processing. ~& ) ‘.f::":{ 5 (V)
(vi) Write the storage capacity of Compact Disc (CD) ..’4-’:://:.;;’11#‘,(2_5?&5@( UI8s » $3 (vi)

and DVD. N
(Vi) What do you mean by nuclear transmutation? . Yo oy Y < SN f:.‘x (vii)
(viii) Write the difference between fission reaction and _é} ISR u"g ISs792 1t u‘g IS (viii)

fusion reaction.

10 4. Write short answers to any Five (5) questions : s & oy (5) 5& 4 _a
(i) How does electrostatic induction differ ?.;.'.ﬁd_::.é.f Zw‘lg:(()';;jﬁ.’)jf (c;;?clo-@'!/*’gj (1)
from charging by friction? 3

(if) Write any two uses of capacitor. .l =W g = 3 L f::f (ii)
(iii) Define S.1 unit of capacitance. E S eys) £ oS i)
(iv) What is the difference between conductors and insulators? - J/ Y~ z}!ﬁ'l s/ }/'-’/2’/ (iv)
(v) Differentiate between Ohmic and Non-Ohmic materials. -é J/u.'.’d_’ 2Laslgt sl s (v)
(Vi) How many watt-hours are in 1000 Joules? Ut Zv T &y & J~ Jz 1000 (vi)
(vii) Describe the uses of cathode ray oscilloscope. _é Wk J&1 ¢ (CRO) .?«:a:.".‘slé._zjﬁ{ (vii)
(viii) ‘Write the truth table of NAND gate. ek A LS e i

( PART-I1 (92 )

Note : Attempt any TWO questions. w4 ez L ety we § 1oy

4 5. (a) Explain the refraction through convex _éa_u;frl/’_gf};;yuﬂff LEEL AJE/ () .5
lens by making ray diagram. ik i sf 29

5 (b) If at Anarkali Bazaar Lahore, intensity s/ (515513 80 dB LG i (o)
level of sound is 80 dB, what will be the intensity of sound there? £

4 6. (a) Whatis meant by series combination of . e ler® kS Sl ry il ip (L) _g
resistors? Write down its three characteristics.

5 -ﬁ'..@)f;n.-)}r 1.6 Xlohig {g;}jg:?{;ﬁf‘g&{!ﬁ Tfﬁ;b_f& 100 uC 6/?{&1/5@1&{})1’%{ (h..r)

(b) The charge of how many negatively charged particles would be equal to 100 HC

Assume charge on one negative particle is 1.6 x 107" c.

4 7. (a) Draw the circuit diagrams of_rf_Lw‘U*Léjécﬂf-;Tuwé_t-,.ru?ii.:&d'u‘%{T OR 4Ie/%, TAND (i) 7

AND operation and OR operation and also write the truth table of both these operations.
5 R E D oo (uisK 368 eoisk i -t 10 SIS Sty ol (L)

(b) Half-ife of a radioactive element is 10 minutes. If the iniial 2 s 385K 23 uoutsK

count rate is 368 counts per minute, find the time by which
count rate reaches 23 counts per minute? 211-019-ll-(Essay Type)-79000



